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Solve each system by graphing.
1) y=—x+4 - 2) y=2x+3
y=6x-3 ? @ y=2x-2 "
— 52 .w/ / m "%j
: | 3 | / .
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Solve each sysfem by substitution.
3) 3x-3p=9 4) 8x+2y=-14
yﬂéﬁ ¥ D =-3(-2)-15
3x-3(x-3)=1 Tx+L(-8x-5) =Y 9
) W= 1o-1S
Bx-2x+49 =9 0 sl Y
=9 [ Inhinke Bl A
tne | Solutimny = Y F2,1)
X~-2
5) 6x+2y=3 6) y=3x+20
y-h=p v D) =t
=@t
= 2(
X123 310) = 3 ,:(‘) e ==
A ) -
UY’_LPX—D,:% “Ixtl = 20
-2 :5 o ~b
“ 2% =\4
X - False 6,71
X=7
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Example: y=x+1 2X+y=-2
(A1S jSoloded
J Step 2: Substitute Step 3: Substitute
the expression from | the value from Step
Step 1: Select the Step 1 into the 2 into the revised Step 4: Check the
equation that other equation for | equation from Step | solution in each of
already has a the variable you 1 and solve for the the original
variable isolated. isolated in step 1 other variable. equations.
and solve for the | Create a point from
other variable. your solutions.
- - = A (0) = (- |
v S poe
= & " = VA v
2%+ (x1\)="2 = (-1 )
Ixxax4\="2 4= -\ +) 20-1)+(0)="2
3x+1=-2 || y=[o) "
-\ = " ——
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Example: Solve the system below:
2% + 2\/ =3 Chﬁ Ck‘ " \
x‘:@ ‘-qﬁ V) 201 Y4URN=D L1=4C2)
A\ K= 3 ¢ 2=\
3(4‘3-01'&3 =7 -\ L= -
%%’l*%ﬂ‘g - 3;5 \\"/
x=(1) v
IOLj- 1=13 .
v +2 Aes (\,2) 1s
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10
-\L
=\% i
Example: Solve the system below:
AR Yf@ 4 ‘5:(\\ Y\ ()= G (2)=-20014
*q’-\@\"‘ =-2x+4  \ 2.2 7 == 2%%
o ) = B
Nt1=-2%+d &) @ v 2 \;/1
3y "Ox
AX1)1 =4 | D} Wes (1Y) T &
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Example:

Solve the system below:

« =3 -y )

X —
X+y=7
(5-%\1\3"‘1

?)‘3f_\3=“l S

2= NO ol u--hw\gj
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Example: Solve the system below:

y:
4x +

Yyt

True

=8

. = T Y
x19) =%
Qy-4x+d=3

3=%
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When the variables drop out and the resulting equation is FALSE,
the answer is NO SOLUTIONS.

When the variables drop out and the resulting equation is TRUE,
the answer is INFINITE SOLUTIONS.

Number of Solutions

1 Solution

Infinitely Many Solutions

No Solution

Substitution

Elimination

When using either
substitution or
elimination, you should
get a value for either x
ory. You should be able
to find the other value
by substituting either x or
y back into the original
equation.

When using either
substitution or
elimination, you will get
an equation that has no
variable and is always
true.

For example: 2=2 or
-5=25

When using either
substitution or
elimination, you will get
an equation that has no
variable and is never
true.

For example: 0=6 or
=4
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